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INTRODUCTION

1. Simple Partnership: In a simple partnership, the capital of partners are

invested for the same Eerind of time.

2. Compound Partnership: In a compound partnership, the capital of partners
are invested for different period of time.

3. Working Partners: A partner who manages the business is known as a
working partner and he may get an additional salary or profit for managing
the business.

4. Sleeping Partners: The one who simply invests the money is a sleeping

partner.



Concept of Agreement

Working Partner
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Two partners A and B who invest 2500 and

1750 comes into a partnership and agreed‘that
40%y of the total profit is<equallv ‘between them
F

and remaining profit is divided according their

investment , In this way one partner ge( 9003
rupees more than other . then fird total prM

__

in the business? 21 |TSER A 31T B AT 2500 311
1750 1 a9 & &, U AreEn ¥ A § 3N
HEUA B4 & [oh et o1 &1 40% I St THH
mnf&mﬁw&mmg I I &9 IS

v & sraw Rafa ear s 8, s e v
mﬁmmﬁmwmmmﬁwfﬁm%n‘

a1 STIR | A ATH AT H?
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Two partners A and B who invest 45000 and

75000 comes into a partnership and agreed
that 60% of the total profit is ‘ between - 3 /___. ;/éﬂ-a—
them and remaining profit is divided /———-—“t-

thei In this way one - 3 o S—
) -—— L Y

partner get 1600 rupes han other . then - —

find total profit in the business also find share

of profit of of each ? =1 HWISER A 3 B &1
45000 31T 75000 =T a9 A E, v AEE o
ATA ¥ AR AEg9d T & & & @ & 60%\ Qo
Ik o AU a0 | e e amn g o -
I ATH 37 a9 & HTaw e feman s

¥, 39 AE Ueh ATt Wt 3= Y 7T H 1600 9T

sfires faera &1 a1 SR § Fe Y 3R T g
& ST T f2eay AT &? M}.

according




PARTNERSHIP-1

In a business A and B invest
money in the ratio 5 :

10% of total profit goes to 10 / -

00 ZP @ > ) ~00©
rupees from the =Y
then find total proﬁt in the
business? Ush s0dd™d q A AR
B 5: 7 % AU § THT &I E)
IR HeA TATH & 10% AR |
HATAT Bl AT A Hi TThl AW H

7500 U fHAT O SAUR o
gmmma?ﬁ? |
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PARTNERSHIP-1

business while remaining groﬁt is divided according@-_-; Sé-h— © -20# ° '79"\
their investment. If A invest 50000/, B invest 20000
s = = —&

. - - - . V
and C invest 70000 wnll join the business 4 2 Y =~

months later then find\total profit)in the business if A

; P> \§ T 6% (M
will gerom the business ? Ush S09HTd | A U - B
FHIAHTAT QTSN 2, 9 sgaa™ & a9y & oo e 2'0
A9 & T H HeA ATH H 20% T, FaTeh 79 &9 i S M

e Frawr & sram i fwan mar &1 af2 A 50000 R
&1 39T @At 2, B 20000 w1 FH39T &wET 7 31 C 70000 @
Q‘.
Wwhsr N

w1 Favr Er & 9 4 odiT T smEEw w1 ownituer #@

O A WEA™ H Her @9 A w0, afe A @ @ ®
=T o 3800 faem? / L l\,-

(a) 7,000 (b) 15000 (c) X o -
20,000 (d)None of these @LL
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Ram started a business with Rs. 52000 & after
4 months Shyam joined him with Rs. 39000.
At the end of 1 year out of total profit Shyam
received total 20,000 including 25% of profit
as commission for managing the business.
What amount did Ram receive? I = 52000
U F HRER 7 a1 3R 4 T v v
39000 & ¥ Ik 1A S 74T | If 1 94 & A H
He1 ATH | H YITH &I SqTET & Ta47 & forg
HHII o B9 H ATH T 25% Afed, FHet 20,000
SITH T | T Sht 3T 0097 Fedi?

(a) 10,000 (b) 15000

(c) 20,000 (d) 25,000

(e)None of these

wd
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In a business A is a working partner who will get 10%
——

of the total profit as his salary for managing the

business while remaining profit is divided according
their investment. If A invest 5000 , B invest 6000 and
C invest 8000 who will join the business 4 months
later if In this way A will get 4200 more than profit of
C then find total profit in the business? Ush sqaama o

A U SHTHHTS ATER 2, e soaam & ugus & fem ]'{ \ﬂ
AU FAT & T H FA @9 & 10% N FafE 09 \
Y W1 Ik a9 & FTER e e a2 af /

A 5000 =T FAE9T AT 7, B 6000 = & st & 3 C
8000 =T FA=9T AT & A1 4 WA T2 WA | yniHe
21 ATONT, 30 A% A il C & &9 & 4200 3fares fHem
Al SAIETT § THet ATH FTA S 2

(a) 51450 (b) 55000 (¢)
52,400 (d)None of these






